Name __________________________________ Hour___________ Date_____________ 
Score___________________
Quiz 3A- Decimals RETAKE
SHOW ALL WORK.
Add or subtract. 
1)   –48.79 – (–7.316)								

    _______________				   	
2)  5.752 – (−37.28 )
         
   _______________			     		    
Multiply.

3)   8.43 •  2.19	 _______________			 

					

4)   7 • 0.06		_______________			  


Divide.
5)   412.85 ÷ 5						6)  −39.984 ÷ (–5.1)
	


_______________						________________			

													
Simplify each expression. 

7)   4 • (2.7 ÷ 0.9) • 0.35					8)   -4.2 + (11.5 ÷ 4.6) – 5.8

_______________							_______________
  
Solve. Show each step. Circle your final answer.

9)    21.8c = -124.26					10)  e – 14.25 = -23.9

							






[bookmark: _GoBack]11)    v – 4.055 = 1.9034					12)     = 5.69
	
							




Extra Credit:


Hinman Glacier, on Mount Hinman, in Washington State, had an area of 1.3 km2 in 1958.  The glacier has lost an average of 0.06875 km2 of area each year. In what year was the total area 0.2 km2?

_______________________
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